Yorard =
B NER
1. LEA4
T4 HF6 - 7 - SEEFEMXKEEBZO 3 TH
T4 s R AU T o
2. TENE
1)  FHEIT4 e R ERE S5 AT E R B
2) X I f& HEWETH
3) T £ 457 H [ H 0 7TH 3H31H
ES 0 8% 6H30H
4) T EgE

i@ Aokt 5w m



)

HNERE

THEL | 56 - 7 - SFEFHEHXKERBZD 3 TF

THXSy « TfE - FER B & i
B K& Y 1 248, 845, 097
ERLT Y 1 14, 581, 760
PEHI T Y 1 4,463,200 |4EH! 1, 400 m3
+#)
A 1 2V
+rb CEl - ERREY L&) ;
EEEE T Y 1 5,830,500 | (AR (B)1H) 1, 500 m2
BOE T BOR T, s o
AL T = 1 4, 288,060 | %% 1 =
R+ AN T O
A 1 2V
+rb CEE - ERREY L&) ;
i T = 1 146, 880, 000
AT T Y 1 146, 880, 000 | EMFVIRAF 4, 800 m2
(BB
JE20cm ;
HAHEEYIET = 1 61, 343, 510
A5 A T Y 1 14, 475,510 | %G5 -8 567 m2
n=7" R T
3XT6/0 ¢ 12 ;
PEABLREAT T 1 46, 868, 000 | T&A B 56 m
A
WL AV =150k ] SEAREUTZ ;
PEA B HEAT 320 m
B
WLV =150k ] SRS ;
HiEYME T = 1 3, 334, 697
HAEENILRMET 1 3,163,950 | ¥ bR 1 =
(L i5350)

i@ Aokt 5w m




PR NERE

THEL | 56 - 7 - SFEFHEHXKERBZD 3 TF

THEXS - T - FER B ¥ & & Hm a1l W 3
Kb
A BLHEREE 1 2V
(Fp )
Ky b
TEHRALEE T Y 1 170, 747 | BLG 38 A S E A 1 =
<7,
FGan Y 1 22,705, 130
B TR T = 1 8,097, 130 | & HfiE 1 =
TH#HHE/V-b 500kgfdi/45° ;
A EE T Y 1 14, 608, 000 |3HFEE(H B 1 =
RS 2V 1 248, 845, 097
Il R Y 1 25, 182, 440
B 2 = 1 2, 264, 440
HEfif # 2V 1 161,260 |{kEd 1 =
Bl ey = 1 63, 180 | i I it g% A AT R 1 =
Bl RIEWER (FE L) Y 1 2, 040, 000
Il (it L) Y 1 22,918, 000
il T Y 1 274, 027, 537
Bl H e 2V 1 82, 208, 000
T =5 Y 1 356, 235, 537
— R B 2V 1 51, 254, 463

-2 - ESR o3 E < o] 3 ok S




B N ERE

THEL | 56 - 7 - SFEFHEHXKERBZD 3 TF
THEXS - T - FER - va ¥ = & i 1l M 3
T =AM Y 1 407, 490, 000

i@ Aokt 5w m




